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Short Response (SR)
This year’s SR subtest comprised 16 items across nine units. As students worked through each unit, they 
interacted with stimulus material, which was chosen to be challenging and engaging. Test developers paid 
careful attention to framing each item in a way that made it accessible to most students. The SR testpaper 
comprised units with stimulus material selected from fields such as mathematics, science, history, the social 
sciences and literature.

This year’s paper was varied in its content, covering a broad range of CCEs. The different tasks included 
determining cost, ratios, materials for a job, designing to specifications, measuring carefully and 
constructing circles, interpreting advertisements, creating a play-on-words, providing clear explanations and 
describing how an actor could convey meaning. 

Model responses and commentaries on student performance

What follows is an item-by-item report that includes model responses and marking schemes, tables and 
graphs of the distributions of grades, and commentaries that discuss the tasks. At times, references to 
specific student responses are included to exemplify observations. As much as possible, model responses 
are actual student responses. Model responses are those that demonstrate a high level of performance and 
would have been awarded the highest grade.

For some items, especially the more open-ended ones, responses were extremely varied. For these responses 
it is not possible to provide examples of the many ways students responded. The detailed, item-specific 
marking schemes indicate the scope of acceptable responses for different grades. Even for the more closed 
items the marking schemes demonstrate that different ways of perceiving ‘the solution’ were able to gain 
credit.

Marking schemes

The marking schemes used during the marking operation and included in this section of the Retrospective are 
not designed to be read in isolation. They are only one element of the marking prescription. During the 
marking operation, markers undergo rigorous training in how to apply the marking schemes to student 
responses of one marking unit. The training involves careful consideration and application of the material 
presented by immersers.

All SR items are double marked. This means that a student’s response booklet is marked by at least 10 
different, independent markers. Referee marking also occurs when necessary.

For organisational purposes during the marking operation, the testpaper units were grouped into five 
marking units. In 2016, Marking Unit 1 contained testpaper units One and Seven, Marking Unit 2 contained 
testpaper units Two and Eight, Marking Unit 3 contained testpaper units Three and Five, Marking Unit 4 
contained testpaper units Four and Six and Marking Unit 9 contained testpaper unit Nine.

Each marking scheme provides descriptors for up to five creditable grades, as well as the non-contributory 
grades N (where the response is unintelligible or does not satisfy the requirements of any other grade) 
and O (where no response has been given).
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SR 2016 summary

Note: CCEs specific to an item are listed on the item’s marking scheme.
The baskets into which CCEs are grouped are shown in Appendix 3.

Unit Item Basket Common Curriculum Elements by unit

One
Drafts

1  10 Using vocabulary appropriate to a context
52 Searching and locating … information

Two
Syrups

2  16 Calculating with or without calculators
17 Estimating numerical magnitude
37 Applying a progression of steps to achieve the required answer
44 Synthesising3 

Three
Tom S

4  4 Interpreting the meaning of words …
10 Using vocabulary appropriate to a context
26 Explaining to others
31 Interrelating … themes …
46 Creating/composing/devising

5 

Four
Blocks 

6  16 Calculating with or without calculators
20 Setting out/presenting/arranging/displaying
43 Analysing
50 Visualising
53 Observing systematically

7 

Five
Blurb

8 
11 Summarising/condensing written text
31 Interrelating ideas/themes/issues
44 Synthesising

Six
Windows

9 
16 Calculating with or without calculators
19 Substituting in formulae
32 Reaching a conclusion which is necessarily true provided a given set of 

assumptions is true
37 Applying a progression of steps to achieve the required answer
43 Analysing
57 Manipulating/operating/using equipment

10 

Seven
Smoking

11 
4 Interpreting the meaning of words …
5 Interpreting the meaning of … illustrations

26 Explaining to others
27 Expounding a viewpoint
31 Interrelating 
43 Analysing
48 Justifying

12 

Eight
Sprinklers

13 
2 Finding material in an indexed collection

17 Estimating numerical magnitude
22 Structuring … a mathematical argument
35 Extrapolating
37 Applying a progression of steps to achieve the required answer
44 Synthesising

14 

Nine
Students

15 
12 Compiling lists …
26 Explaining to others
28 Empathising
33 Inferring
43 Analysing
52 Searching and locating … information
55 Gesturing

16 
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Unit One
The item in this unit is based on an extract describing a walk through part of an Australian city.

The following table shows the percentage of responses awarded the various grades for the item in this unit.

Item 1

Commentary

Item 1 is a two-star item that tested achievement in CCEs 10 Using vocabulary 
appropriate to a context and 52 Searching and locating … information.

This item required students to find the best match from the extract for the given 
phrases.

An A-grade response needed to provide five exact phrases matched correctly.

In some responses, more words than were needed to match the given phrase were 
provided and this did not show full command of vocabulary. 

Students should remember that it is important to follow the directions in the stem. 
When directed to provide exact phrases, students should not give extra words. 

Model response 

A B C D E N O

Item 1 24.6 20.3 31.7 21.6 1.8

A shaded box indicates that the grade was not available for that item.

A B C N O

100%

tcartxe eht ni desu esarhp esarhp tfard-tsrif

sun-drenched expanses

peripheral mercantile areas

strange but dreary incentives

pleasant secluded suburb

imposing distinction

(for) shadeless miles

(of) marginal commercial districts

surreally unappealing inducements

(a) lovely hidden borough

(often) impressive venerability
| Retrospective 2016 QCS Test
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Unit Two
The items in this unit are based on the costs and mixes of three different cordial syrups.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

Item 2

Commentary

Item 2 is a two-star item that tested achievement in CCE 16 Calculating with or 
without calculators.

This item presented students with a table showing three different cordial syrups, 
the volumes of the bottles they are sold in and their prices. Columns to record the 
price per 100 mL of syrup, the recommended mix (in terms of parts of water per 
one part of cordial syrup) and the cost of a 250 mL drink of the prepared cordial 
are also part of the table. Students were required to find the price per 100 mL of 
two of the syrups. 

The cue instructed students to show all steps and to give the prices in cents.

An A-grade response needed to show working that resulted in the correct price, in cents, for the syrups 
named Fresola and Cherizade. 

Some responses gave answers in dollars rather than the cents required by the cue and thus could not be 
awarded the highest grade. 

Rates problems always require correct placement of the quantities being compared. The rate required, i.e. 
cents per 100 mL (cost divided by volume), was in some responses replaced by mL per cent (volume divided 
by cost). Using the required units of measurement, A per B always means quantity A divided by quantity B.
It is always important to check any results for reasonableness.

Model response

A B C D E N O

Item 2 65.2 5.3 4.9 20.5 4.1

Item 3 19.4 7.7 22.8 2.7 35.4 12.1

A shaded box indicates that the grade was not available for that item.

A B C N O

100%

Based on the bottle size and the selling price of Fresola and Cherizade, find the price 
per 100 mL of each of those syrups. 

.........................................................................................

.........................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

Show all steps.

Give the prices 
in cents.

2500 mL costs $4.36

100 mL costs x

cost of 100 mL of Fresola = 17.4 c

x = 100 ÷ 2500 × 436 

= 17.44 c

1500 mL costs $3.95

100 mL costs x

cost of 100 mL of Cherizade = 26.3 c

x = 100 ÷ 1500 × 395

= 26.33 c
| Retrospective 2016 QCS Test
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Item 3

Commentary

Item 3 is a three-star item that tested achievement in CCEs 17 Estimating 
numerical magnitude, 44 Synthesising and 37 Applying a progression of steps to 
achieve a required answer.

This item comprised two parts. In the first part, students were required to 
calculate the cost of a 250 mL drink of cordial using Fresola syrup with the 
recommended mix stated in the table. In the second part, students had to 
determine the mix that should be recommended for Cherizade, so that the cost for 
a 250 mL drink of this cordial would be 9.4 cents. 

The cue for the first part directed students to show all steps and to give the cost in cents. In the second part, 
the students were directed to show all steps again and to make their reasoning clear.

An A-grade response needed to show correct working for the first part that provided the correct cost of the 
250 mL of Fresola in cents and, for the second part, provided the recommended mix of 6 parts water to 1 part 
syrup. The reasoning needed to be evident and clear and no incorrect information, calculations or reasoning 
could be used to obtain the answers.

Responses showed a variety of methods were used in the two parts of this item. For the first part, the 
knowledge of ratio was demonstrated when the mix of 4:1 was correctly interpreted as needing to find one-
fifth of 250 mL as the amount of syrup in the cordial drink to then be able to calculate the cost. In the second 
part, one of the many valid methods that could be used to find the recommended mix was to reverse the 
procedure used in the first part. Once again it was necessary to understand the concept of ratio as a fraction. 

Students should expect that the calculations or steps used in the first part of an item could be useful in 
determining the solution to the second part as this is generally how items with multiple parts are 
constructed. This is helpful with time management.

A B C N O

100%

D

| Retrospective 2016 QCS Test



Model response

I. Calculate the cost of a 250 mL drink of cordial made using Fresola syrup. Assume that 
the recommended mix is used.

...................................................................................

...................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

II. Determine the mix that should be recommended for Cherizade so that the cost for 
a 250 mL drink of cordial made using that syrup would be 9.4 cents. 

.........................................................................................

.........................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

Show all steps.

Give the cost in cents.

Show all steps.

Make your 
reasoning clear.

mix 4 parts water to 1 part syrup therefore 5 parts in total

volume of syrup in the drink = 250 mL ÷ 5 parts = 50 mL/part

cost of syrup per mL = 436 c ÷ 2500 mL = 0.1744 c/mL

cost of drink = 0.1744 × 50 = 8.72 c

cost of syrup per mL = 395 c ÷ 1500 mL = 0.2633 c/mL

volume of syrup in a drink = 9.4 c ÷ 0.2633 c/mL = 35.7 mL

parts in a drink = 250 mL ÷ 35.7 mL = 7.0027

so there are 7 parts each of 35.7 mL, one of which is syrup

parts of water = 7 – 1 = 6 parts

the recommended mix is 6 parts water to 1 part syrup
19Queensland Curriculum & Assessment Authority |
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Unit Three
The items in this unit are based on a type of deliberate play-on-words called Tom Swiftlys. The name is based 
on the way the main character spoke in a series of adventure stories written in the early 1900s.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

Item 4

Commentary

Item 4 is a three-star item that tested achievement in CCEs 4 Interpreting the 
meaning of words, 10 Using vocabulary appropriate to a context and 26 Explaining 
to others.

The introduction to this unit familiarised students with the concept of a Tom 
Swiftly. Two examples were given and analysed. These acted as models to assist 
students when answering the item. This item required students to analyse two 
given Tom Swiftlys.

An A-grade response required, for each Tom Swiftly, provision of an appropriate meaning for the adverb, an 
explanation of a suitable context for speaking in the manner of the adverb and a suitable link between the 
stem of the adverb and the spoken words. 

The meaning given for the adverb had to make sense according to the particular Tom Swiftly and the context 
needed to address the reason for the words to be spoken that way, e.g. as a (blunt) demand for the sharpener 
or viewing one’s appearance in the mirror (reflectively). 

Students should make use of any models given in the stimulus of an item and use these to provide a structure 
for their responses.

A B C D E N O

Item 4 12.3 18.1 33.0 31.7 2.6 2.4

Item 5 5.6 21.0 57.6 11.4 2.1 2.3

A shaded box indicates that the grade was not available for that item.

A B C N O

100%

D
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Model response

Analyse the two Tom Swiftlys that follow. Use the examples above as a guide.

‘I need your pencil sharpener !’ Tom said bluntly.

MEANING OF ADVERB AND WHY IT IS SUITABLE — .................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

LINK TO THE SPOKEN WORDS — ......................................................................

...........................................................................................................

...........................................................................................................

‘I don’t like the way I look in that mirror,’ Tom said reflectively.

MEANING OF ADVERB AND WHY IT IS SUITABLE — .................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

LINK TO THE SPOKEN WORDS — ......................................................................

...........................................................................................................

...........................................................................................................

‘Bluntly’ can mean very direct and serious. In the context of asking for something 

that is needed desperately, that is how Tom could say those words.

‘Reflect’ can mean to critique with the benefit of hindsight. Since Tom is looking into a 

mirror and he would be critiquing his own image, that is how Tom could say those words.

Blunt is a description a pencil is given when it needs to be sharpened.

A reflection is something a mirror produces.
| Retrospective 2016 QCS Test
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Item 5

Commentary

Item 5 is a three-star item that tested achievement in CCEs 31 Interrelating … 
themes, 46 Creating/composing and 10 Using vocabulary appropriate to a 
context.

This item comprised two parts. In the first part, for each of the given sentences 
students were required to select the most suitable adverb (from the list in the 
highlighted section) to complete the sentence as a Tom Swiftly. 

In the second part, students had to craft appropriate spoken words to form a Tom 
Swiftly that ends with ‘Tom said softly’. The cue for this part instructed students to 
check that their words did indeed create a Tom Swiftly as described in this unit. 

An A-grade response needed, for the first part, to correctly match all five adverbs and then for the second part 
to create a Tom Swiftly using a single sentence. The spoken words needed to set up a context in which the 
words would most likely be said in a quiet or gentle voice and a link to the word ‘soft’. 

To correctly match the adverbs students had to be sure the adverb and the spoken words did form a Tom 
Swiftly as defined in the introduction. In the second part many of the spoken words provided in the 
responses contained something soft but did not provide the context for why those words would be said 
quietly or gently. Some responses did not set up a link with the word ‘soft’. 

Students should use all available information and attend to any cues carefully. If a model is given use it to 
help respond appropriately.

A B C D N O

100%
| Retrospective 2016 QCS Test



Model response

I. For each sentence below, select the most suitable adverb (from the highlighted section) 
to complete the sentence as a Tom Swiftly. Write one adverb at the end of each sentence. 
Do not use any adverb from the highlighted section more than once.

‘Watch out for the broken glass,’ Tom said ..........................................................

‘Your work is only average,’ Tom said ..............................................................

‘Walk this way,’ Tom said .............................................................................

‘I can’t remember what groceries I need to buy,’ Tom said ........................................

‘Of course you’ll graduate,’ Tom said ...............................................................

II. Craft appropriate spoken words to go before Tom said softly, to form a Tom Swiftly. 

........................................................................................

........................................................................................

........................................................................................

................................................... ’ Tom said softly .

Check that your 
words do create 
a Tom Swiftly 
as described in 
this unit.

‘

sharply.

meanly.

stridently.

listlessly.

diplomatically.

I could just sink into this cosy bed forever,
25Queensland Curriculum & Assessment Authority |
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Unit Four
The items in this unit are based on water features made up of square-based metal blocks of varying heights 
arranged on rectangular grids.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

Item 6

Commentary

Item 6 is a two-star item that tested achievement in CCEs 50 Visualising and 
16 Calculating with or without calculators.

This item required students to find the maximum and minimum depths of water in 
the pool formed in one of the water-feature models and then to state where each 
of those depths occurs.

The cue directed students to give the depths in centimetres.

An A-grade response needed to provide the maximum depth and where it occurred 
and the minimum depth and where it occurred. 

To obtain the answer it was necessary to visualise water in the pool and recognise that once the pool was as 
full as it could be the water would flow out over the lowest side block (in the model given, block 7). When this 
happened the water on top of block 1 would have a depth of 6 (7 – 1) cm and water on top of block 3 would 
have a depth of 4 (7 – 3) cm. In some responses it was not made clear where the maximum and minimum 
depths occurred nor were values identified as maximum and minimum. 

Students should clearly and unambiguously provide all requirements when responding to items.

Model response

A B C D E N O

Item 6 13.9 29.0 15.8 35.7 5.6

Item 7 21.2 8.3 31.0 23.1 10.1 6.3

A shaded box indicates that the grade was not available for that item.

A B C N O

100%

Assume that the pool formed in model 2 is as full as it can be, i.e. it is holding the greatest 
amount of water that it can. Find the maximum and minimum depths of the water in the pool 
and state where each occurs.

............................................................................................

............................................................................................

...........................................................................................................

...........................................................................................................

Give the 
depths in 
centimetres.

Maximum level of water is 7.

Maximum depth is on block 1.

Maximum depth is 7 – 1 = 6

Minimum depth is on block 3.

Minimum depth is 7 – 3 = 4
| Retrospective 2016 QCS Test
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Item 7

Commentary

Item 7 is a three-star item that tested achievement in CCEs 20 Setting out/
presenting/arranging/displaying, 43 Analysing and 53 Observing systematically.

This item required students to design a water feature so that a pool is formed in its 
middle using blocks numbered 1 to 20, where the numbers indicate the heights of 
the blocks. There were three requirements: the area of the base of the pool had to 
be as large as possible; the amount of water able to be held in the pool had to be 
as great as possible; blocks beside each other had to have height differences 
more than one, i.e. no consecutively numbered blocks could be beside each other.

The cue suggested that students use pencil on a draft grid before completing their response on the answer 
grid.

An A-grade response needed blocks numbered 1 to 20 to be used (with no repetition) and those numbered 1 
to 6 to be located in the middle squares, 7 to 10 located in the corner squares and 11 to 20 in the side 
squares. It also required that no consecutive numbers be beside each other. This layout would ensure that 
the three requirements of the water feature design would be met.

Checking was of paramount importance in this item as some responses that showed correct reasoning 
unfortunately had consecutive pairs beside each other or repeated numbers in the answer grid. 

Students should always consider all given information especially that provided in the introductory stimulus 
prior to developing their strategies. Model 2 given in the stimulus exemplified how a pool is formed and the 
connection between the pool blocks and the side blocks.

Model response

A B C N O

100%

D

Answer grid.

8 13 16 19 10

12 6 2 4 20

18 3 5 1 15

9 17 11 14 7
| Retrospective 2016 QCS Test
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Unit Five
The item in this unit is based on a list of quotations about a particular nonfiction book. The quotations give 
personal reactions to the book.

The following table shows the percentage of responses awarded the various grades for the item in this unit.

Item 8

Commentary

Item 8 is a three-star item that tested achievement in CCEs 44 Synthesising, 
11 Summarising/condensing written text and 31 Interrelating ideas/themes/
issues.

The stimulus for this item was a number of quotations, each of which gave a 
personal reaction to the same nonfiction book.

This item required students to determine the facts relating to the essential 
elements of the nonfiction book and to compose an objective overview. Title, 

author, topic, content and style of writing were stipulated as the ‘essential elements’ of the objective 
overview they were to compose. An objective overview is considered to be one free from personal comments.

A cue suggested using the open space to organise the response and reminded students to write their final 
overview in the lined area. Other cues instructed students to write in sentences and not to simply quote from 
the quotations.

An A-grade response needed to create the overview, drawing together evidence from the stimulus, rather 
than simply quoting verbatim from it. The responses needed to be objective, succinct and coherent and 
follow a logical sequence. As part of the overview students were required to correctly identify the title, author 
and topic. They were also required to provide different details about the content and different details about 
the book’s style.

The title and name of the author were mostly identified but the topic and content were sometimes 
interchanged. The topic, as distinct from content of the book is ‘public speaking or presenting’, or an 
equivalent over-arching word or phrase. Many responses identified topic as ‘dos and don’ts of public 
speaking’, or ‘personal experiences of public speaking’. These are creditable as details of content, but not as 
the topic of the book. 

Students should take on board the suggestion in a cue that recommends organising before writing the final 
response. This type of cue has been provided because, to respond well, several parts would have to be 
carefully brought together (synthesised). Attending to cues is always a beneficial exercise — they are there to 
guide students. 

Model response

A B C D E N O

Item 8 7.5 31.2 37.1 14.3 3.9 6.0

A shaded box indicates that the grade was not available for that item.

A B C N O

100%

D

..........................................................................................

..........................................................................................

..........................................................................................

Write in 
sentences.

Do not simply 
quote from the 
quotations.

 ‘Confessions of a Public Speaker’ by Scott Berkun is about public speaking and offers advice 

on making presentations to an audience. It is well-organised and contains practical 

suggestions based on the author’s own experiences, making it humorous and entertaining.
| Retrospective 2016 QCS Test
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Unit Six
The items in this unit are based on two lead-light windows of different sizes. 

The following table shows the percentage of responses awarded the various grades for the items in this unit.

Item 9

Commentary

Item 9 is a four-star item that tested achievement in CCEs 16 Calculating with or 
without calculators and 32 Reaching a conclusion which is necessarily true 
provided a given set of assumptions is true.

This item comprised two parts and required students to find the total length of 
lead needed to construct a circular lead-light window which contained a square in 
the centre of the window. In determining this total length, several intermediate 
values needed to be calculated and two of these intermediate values (i.e. the area 
of the square and its side-length) needed to be included in the first part of the 
response.

The cues directed students to show all steps and give each of the answers to three decimal places.

An A-grade response needed to provide evidence that all of the seven key steps were used in a valid way to 
provide the final results for the area of the square, the side-length of the square and the total length of lead 
for the window.

Students should not measure a diagram unless it has been explicitly identified as a scale diagram. The 
diagram provided in the stimulus was clearly non-circular and was described as a ‘very rough sketch’. This 
was deliberate so that it would not be taken to be a scale diagram. If a diagram is not to scale there must be 
another method of determining the solution. 

A B C D E N O

Item 9 7.8 9.6 10.7 9.1 12.2 45.4 5.2

Item 10 11.6 10.3 5.3 32.3 12.5 16.5 11.4

A shaded box indicates that the grade was not available for that item.

A B C N O

100%

D E
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Model response

I. Find the area (in m2) that the square pane of glass will have and then calculate its 
side-length (in m) if the actual window will have a diameter of 2.20 m.

.........................................................................................

.........................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

Show all steps.

Give answers to 
three decimal 
places.

Area of circle r 2 =   1.12

 =  3.8013 … m2

Area of square  = 

=  0.7602 …

=  0.760 m2

Area of square  = s 2

20.760  =  s

s =

=  0.872 m 3.8013 …
5

----------------------

0.760

II. For this window, lead will only be used for the sides of the square and the four lines from 
the corners of the square to the rim of the circle.

Determine the total length of lead to be used for this window.

.........................................................................................

.........................................................................................

.........................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

Show all steps.

Give final length 
in metres to 
three decimal 
places.

Perimeter of square  = s  4 

=  0.872  4 

=  3.488 m

For diagonal:     c 2

2 22

2 2 =  a  + b  

c  =  0.872  + 0.872 

=  1.521

1.521Diagonal of square  = 

=  1.233

Length of four lines to rim  =  2  (2.2 – 1.233)

=  1.934

Total lead required  =  perimeter of square  +  length of lines to rim

=  3.488  + 1.934

=  5.422 m.
| Retrospective 2016 QCS Test
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Item 10

Commentary

Item 10 is a four-star item that tested achievement in CCEs 57 Manipulating/
operating/using equipment, 19 Substituting into formulae, 37 Applying a 
progression of steps to achieve the required answer and 43 Analysing.

This item comprised two parts. In the first part students were required to carefully 
measure in millimetres the length of the chord and the vertical height of the top 
segment in the scale diagram. They were to use those measurements in the given 
formula to find the area of the segment. In the second part they were required to 

find the radius for the two circles, each with the same area as the segment. These circles had to be drawn 
using a compass and positioned in the space between the top and bottom segments.

The cues directed students to show all steps in the first part and give their answer to the nearest square 
millimetre. In the second part the cue instructed students to show the working used to calculate the radius.

An A-grade response needed to correctly substitute the required values of the height and the chord into the 
formula and calculate the correct segment area to the nearest square millimetre. The response had to 
recognise that segment area equals circle area and to accurately construct the two circles within the 
designated area using the correctly calculated radius. The circles could not overlap.

Measuring accurately with a ruler and using a compass correctly were two skills required in this item. 
Careless substitution into the formula caused some incorrect calculations.

Students should remember to check the reasonableness of their answers, e.g. in this item the measured 
length of the chord was sometimes given not as 95 mm but as 950 mm, which is clearly too large. When an 
item comprises two parts it is expected that values determined in the first part are to be used towards the 
solution to the second part. Using the already obtained value/s will save time.

Model response

A B C N O

100%

D E

I. Carefully measure (in mm), the length of the chord and the vertical height of the top 
segment on the diagram. A formula that can be used to find the area of a segment is:

Use this formula to find the area of the top segment. 

.........................................................................................

.........................................................................................

.........................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

A 2
3
---hc h3

2c
------+= where  h 

c
= vertical height of the segment
= length of the chord

Show all steps.

Give answer to 
the nearest 
square 
millimetre.

In the diagram h  =  28 mm  and c  =  94 mm. 

A 2
3 hc h 3

2c+

× × ×

+

=

2
3
- 28 94

283

2 94
------------

------------ ------------

-+=

116.771754.67=

1871.44 mm=

1871 mm=
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40
To complete the diagram, two circles will be positioned in the space between the top and 
bottom segments. Each of the circles will have the same area as each of the segments. 

II. Find the required radius then draw the two circles on the diagram above. Use a 
drawing compass.

...........................................................................................

...........................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

Show working 
to calculate 
the radius.

A r2=

1871 r2=

r2 595.56=

r 595.56=

r 24.4 mm=
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44
Unit Seven
The items in this unit are based on advertisements used in anti-smoking campaigns.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

Item 11

Commentary

Item 11 is a three-star item that tested achievement in CCEs 5 Interpreting the 
meaning of … illustrations, 43 Analysing and 26 Explaining to others.

This item required students to study the given advertisement and clearly explain 
the message being communicated, the techniques used to get the message across 
and the emotions/feelings being targeted. 

An A-grade response needed to provide the full message, describe and explain 
how the digitally altered arm was used to support the message and indicate how 

the text of the illustration supported the message. Responses also needed to identify two emotions/feelings 
targeted by the advertisement and explain one of them. No inconsistencies or contradictions could occur 
across the response.

Some responses only partly attended to the task, e.g. described the digitally altered arm and the text but 
either did not explain how these features supported the message or identified only one emotion. To gain the 
highest grade, all requirements must be met correctly. Some responses incorrectly described an emotion/
feeling felt by the child rather than the viewer of the advertisement.

Students should remember to read the task carefully and to analyse visual and textual elements rather than 
simply provide a list of what can be seen.

A B C D E N O

Item 11 5.3 13.2 69 9.9 1.8 0.7

Item 12 1.8 8.4 26.5 21.6 23.9 16.1 1.8

A shaded box indicates that the grade was not available for that item.

A B C N O

100%

D

| Retrospective 2016 QCS Test



Model response

The advertisement on the opposite page is trying to convince certain smokers to stop smoking.

Study this advertisement and clearly explain: 

(a) what message is being communicated 

(b) the techniques used to get the message across

(c) the emotions /feelings being targeted.

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

.....................................................................................................

(a)

(b)

(c)

The message is about how adults who smoke at home damage the health of children 

due to second-hand smoke. The Roy Castle Lung Cancer Foundation wants adults to 

stop smoking at home.

Photo-shopping an adult’s arm holding a cigarette onto a boy’s body implies he is 

forced to breathe in the second-hand smoke from a parent’s cigarette and is 

equivalent to him smoking. The shocking facts about the harm second-hand smoke 

causes in the UK, with 17 000 UK children being hospitalised in a year, supports 

the image.

The image of the sad young child aims to evoke the feelings of guilt or remorse and 

sadness in parents who smoke near their children. 
45Queensland Curriculum & Assessment Authority |
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Item 12

Commentary

Item 12 is a four-star item that tested achievement in CCEs 48 Justifying, 27 
Expounding a viewpoint, 4 Interpreting the meaning of words and 31 Interrelating.

This item required students to give three significant reasons why a roadside 
billboard would be an effective medium for the given advertisement.

The cue instructed students to explain their reasons clearly.

An A-grade response needed to provide three different reasons based on features 
specific to a billboard displaying the advertisement. It also needed to make 

detailed statements that supported the use of a billboard as an effective medium for this advertisement. No 
unreasonable assumptions could be used.

Some responses only provided reasons for a roadside billboard being an effective advertising medium and 
did not link them with the specific anti-smoking advertisement that was provided. The stem specified ‘this’ 
advertisement. 

Students should remember to read the stem and any cues carefully so that all aspects of the question are 
addressed.

A B C N O

100%

D E
47Queensland Curriculum & Assessment Authority |



48
Model response

The specific market for the advertisement below is long-term smokers. It has been proposed 
that roadside billboards be used as its medium. 

Give three significant reasons why a roadside billboard would be an effective medium for 
this advertisement. 

Advertisement: market — long-term smokers

.........................................................................................

.........................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

Explain your 
reasons clearly.

This anti-smoking message would be an effective medium on a billboard as 

long-term smokers are probably also drivers so may have a regular 

pattern of smoking while driving to work and means they would see this billboard regularly. 

The message is effective because of its double meaning presented in a clever way. The 

‘keep smoking’ really means ‘stop smoking’ or you will develop lung cancer making this 

message the opposite of what you would expect so the motorist thinks about their 

smoking habit as they continue to drive. As a billboard is in a public place for all to see, it 

is not easy for smokers driving past to avoid reading the unpleasant message about 

smoking this particular billboard presents. This way the message would more likely stick 

in the mind of the long-term smoker.
| Retrospective 2016 QCS Test



U
N

IT
 S

E
V

E
N

IT
E

M
 1

2

PE
R

FO
R

M
A

N
C

E
 D

O
M

A
IN

M
a

rk
in

g
 S

c
h

e
m

e

M
a
rk

in
g

 U
n

it
 1

 3
 o

f 
3

N

R
es

po
ns

e 
is

 
un

in
te

lli
gi

bl
e 

or
 d

oe
s n

ot
 

sa
tis

fy
 th

e 
re

qu
ir

em
en

ts
 

fo
r 

an
y 

ot
he

r 
gr

ad
e. O

N
o 

re
sp

on
se

 
ha

s b
ee

n 
m

ad
e 

at
 a

ny
 ti

m
e.

48
Ju

st
ify

in
g

27
E

xp
ou

nd
in

g 
a 

vi
ew

po
in

t

4
In

te
rp

re
tin

g 
th

e 
m

ea
ni

ng
 o

f w
or

ds
 �

31
In

te
rr

el
at

in
g 

C

T
he

 re
sp

on
se

 gi
ve

s T
W

O
 d

iff
er

en
t 

re
as

on
s. 

O
N

E
 o

f t
he

 r
ea

so
ns

 

�
is

 b
as

ed
 o

n 
fe

at
ur

es
 sp

ec
ifi

c t
o 

a 
ro

ad
si

de
 b

ill
bo

ar
d 

di
sp

la
yi

ng
 

th
is

 a
dv

er
tis

em
en

t
�

co
ns

is
ts

 o
f d

et
ai

le
d 

st
at

em
en

ts
 

th
at

 su
pp

or
t a

 b
ill

bo
ar

d 
be

in
g 

an
 e

ffe
ct

iv
e 

m
ed

iu
m

 fo
r 

th
is

 
ad

ve
rt

is
em

en
t. 

T
he

 o
th

er
 r

ea
so

n

�
is

 b
as

ed
 o

n 
fe

at
ur

es
 sp

ec
ifi

c t
o 

a 
ro

ad
si

de
 b

ill
bo

ar
d 

di
sp

la
yi

ng
 

an
 a

dv
er

tis
em

en
t

�
co

ns
is

ts
 o

f s
ta

te
m

en
ts

 th
at

 
su

pp
or

t a
 b

ill
bo

ar
d 

be
in

g 
an

 
ef

fe
ct

iv
e 

m
ed

iu
m

 fo
r 

an
 

ad
ve

rt
is

em
en

t. 

A

T
he

 r
es

po
ns

e 
gi

ve
s T

H
R

E
E

 
di

ffe
re

nt
 r

ea
so

ns
. 

T
he

 T
H

R
E

E
 r

ea
so

ns
 

�
ar

e b
as

ed
 o

n 
fe

at
ur

es
 sp

ec
ifi

c t
o 

a 
ro

ad
si

de
 b

ill
bo

ar
d 

di
sp

la
yi

ng
 

th
is

 a
dv

er
tis

em
en

t
�

co
ns

is
t o

f d
et

ai
le

d 
st

at
em

en
ts

 
th

at
 su

pp
or

t a
 b

ill
bo

ar
d 

be
in

g 
an

 e
ff

ec
tiv

e 
m

ed
iu

m
 fo

r 
th

is
 

ad
ve

rt
is

em
en

t. 

N
o 

un
re

as
on

ab
le

 a
ss

um
pt

io
ns

 a
re

 
us

ed
.

B

T
he

 r
es

po
ns

e 
gi

ve
s T

H
R

E
E 

di
ff

er
en

t r
ea

so
ns

. 

T
W

O
 o

f t
he

 r
ea

so
ns

 

�
ar

e b
as

ed
 o

n 
fe

at
ur

es
 sp

ec
ifi

c t
o 

a 
ro

ad
si

de
 b

ill
bo

ar
d 

di
sp

la
yi

ng
 

th
is

 a
dv

er
tis

em
en

t
�

co
ns

is
t o

f d
et

ai
le

d 
st

at
em

en
ts

 
th

at
 su

pp
or

t a
 b

ill
bo

ar
d 

be
in

g 
an

 e
ff

ec
tiv

e 
m

ed
iu

m
 fo

r 
th

is
 

ad
ve

rt
is

em
en

t. 

T
he

 o
th

er
 r

ea
so

n

�
is 

ba
se

d 
on

 fe
at

ur
es

 sp
ec

ifi
c t

o 
a 

ro
ad

si
de

 b
ill

bo
ar

d 
di

sp
la

yi
ng

 
an

 a
dv

er
tis

em
en

t
�

co
ns

is
ts

 o
f s

ta
te

m
en

ts
 th

at
 

su
pp

or
t a

 b
ill

bo
ar

d 
be

in
g 

an
 

ef
fe

ct
iv

e 
m

ed
iu

m
 fo

r 
an

 
ad

ve
rt

is
em

en
t. 

N
o 

un
re

as
on

ab
le

 a
ss

um
pt

io
ns

 a
re

 
us

ed
. 

D

T
he

 r
es

po
ns

e 
gi

ve
s O

N
E

 r
ea

so
n.

 

T
hi

s r
ea

so
n 

�
is

 b
as

ed
 o

n 
fe

at
ur

es
 sp

ec
ifi

c t
o 

a 
ro

ad
si

de
 b

ill
bo

ar
d 

di
sp

la
yi

ng
 

th
is

 a
dv

er
tis

em
en

t
�

co
ns

is
ts

 o
f d

et
ai

le
d 

st
at

em
en

ts
 

th
at

 su
pp

or
t a

 b
ill

bo
ar

d 
be

in
g 

an
 e

ff
ec

tiv
e 

m
ed

iu
m

 fo
r 

th
is

 
ad

ve
rt

is
em

en
t. 

T
he

 r
es

po
ns

e 
gi

ve
s T

H
R

E
E

 
di

ff
er

en
t r

ea
so

ns
. 

T
he

 T
H

R
E

E
 r

ea
so

ns
 

�
ar

e b
as

ed
 o

n 
fe

at
ur

es
 sp

ec
ifi

c t
o 

a 
ro

ad
si

de
 b

ill
bo

ar
d 

di
sp

la
yi

ng
 

an
 a

dv
er

tis
em

en
t

�
co

ns
is

t o
f s

ta
te

m
en

ts
 th

at
 

su
pp

or
t a

 b
ill

bo
ar

d 
be

in
g 

an
 

ef
fe

ct
iv

e 
m

ed
iu

m
 fo

r 
an

 
ad

ve
rt

is
em

en
t.O
R

E

T
he

 re
sp

on
se

 gi
ve

s T
W

O
 d

iff
er

en
t 

re
as

on
s. 

T
he

 T
W

O
 r

ea
so

ns
 

�
ar

e b
as

ed
 o

n 
fe

at
ur

es
 sp

ec
ifi

c t
o 

a 
ro

ad
si

de
 b

ill
bo

ar
d 

di
sp

la
yi

ng
 

an
 a

dv
er

tis
em

en
t

�
co

ns
is

t o
f s

ta
te

m
en

ts
 th

at
 

su
pp

or
t a

 b
ill

bo
ar

d 
be

in
g 

an
 

ef
fe

ct
iv

e 
m

ed
iu

m
 fo

r 
an

 
ad

ve
rt

is
em

en
t.

M
od

el
 R

es
po

ns
e:

T
hi

s a
nt

i-s
m

ok
in

g 
m

es
sa

ge
 w

ou
ld

 b
e 

an
 e

ff
ec

tiv
e 

m
ed

iu
m

 o
n 

a 
bi

llb
oa

rd
 a

s l
on

g-
te

rm
 sm

ok
er

s a
re

 p
ro

ba
bl

y 
al

so
 d

ri
ve

rs
 so

 m
ay

 h
av

e 
a 

re
gu

la
r 

pa
tt

er
n 

of
 sm

ok
in

g 
w

hi
le

 d
ri

vi
ng

 to
 w

or
k 

an
d 

m
ea

ns
 th

ey
 w

ou
ld

 se
e 

th
is

 
bi

llb
oa

rd
 r

eg
ul

ar
ly

. T
he

 m
es

sa
ge

 is
 e

ff
ec

tiv
e 

be
ca

us
e 

of
 it

s d
ou

bl
e 

m
ea

ni
ng

 p
re

se
nt

ed
 in

 a
 c

le
ve

r 
w

ay
. T

he
 

�k
ee

p 
sm

ok
in

g�
 r

ea
lly

 m
ea

ns
 �s

to
p 

sm
ok

in
g�

 o
r 

yo
u 

w
ill

 d
ev

el
op

 lu
ng

 c
an

ce
r 

m
ak

in
g 

th
is

 m
es

sa
ge

 th
e 

op
po

si
te

 o
f w

ha
t y

ou
 w

ou
ld

 e
xp

ec
t s

o 
th

e 
m

ot
or

is
t t

hi
nk

s a
bo

ut
 th

ei
r 

sm
ok

in
g 

ha
bi

t a
s t

he
y 

co
nt

in
ue

 to
 

dr
iv

e.
 A

s a
 b

ill
bo

ar
d 

is
 in

 a
 p

ub
lic

 p
la

ce
 fo

r 
al

l t
o 

se
e,

 it
 is

 n
ot

 e
as

y 
fo

r 
sm

ok
er

s d
ri

vi
ng

 p
as

t t
o 

av
oi

d 
re

ad
in

g 
th

e u
np

le
as

an
t m

es
sa

ge
 a

bo
ut

 sm
ok

in
g 

th
is

 p
ar

tic
ul

ar
 b

ill
bo

ar
d 

pr
es

en
ts

. T
hi

s w
ay

 th
e m

es
sa

ge
 w

ou
ld

 m
or

e 
lik

el
y 

st
ic

k 
in

 th
e 

m
in

d 
of

 th
e 

lo
ng

-te
rm

 sm
ok

er
.

N
ot

e:
1.

U
nl

es
s s

ta
te

d 
ot

he
rw

is
e,

 a
ss

um
e t

ha
t a

ny
 re

fe
re

nc
e t

o 
an

 a
dv

er
tis

em
en

t w
hi

le
 d

ri
vi

ng
 

(a
s d

ri
ve

r 
or

 p
as

se
ng

er
) m

ea
ns

 it
 h

as
 b

ee
n 

se
en

 o
n 

a 
ro

ad
si

de
 b

ill
bo

ar
d.

 

L
as

t P
ag

e 
C

ou
nt
49Queensland Curriculum & Assessment Authority |



50
Unit Eight
The items in this unit are based on setting up a sprinkler system according to a given plan and using a table of 
information to choose pipes.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

Item 13

Commentary

Item 13 is a three-star item that tested achievement in CCEs 37 Applying a 
progression of steps to achieve the required answer and 44 Synthesising.

This item presented students with a scale plan showing the layout for a sprinkler 
system using six sprinklers. The output of each sprinkler was given as 3.6 gallons 
per minute and the distance between the sprinklers as 30 feet. From the distance 
information it could be determined that the grid squares were 10 feet by 10 feet. 
It was explained that a gallon of water would be enough to cover a 1 foot by 1 foot 

area to a depth of 0.134 feet (i.e. 1 gallon of water for 0.134 cubic feet). Students were required to calculate 
how long the water supply would need to be left on so that the shaded area was watered to a depth of 0.080 
feet.

The cue directed students to show all steps. 

An A-grade response needed to show a method that used all necessary data pieces to determine the number 
of gallons required to cover the shaded area and then the time it would take for the six sprinklers to deliver 
this amount of water. 

Students should remember to break a complex problem into the smaller parts that build on each other to 
provide the final answer. This item required that all six pieces of information were used correctly and 
synthesised into an answer. In some responses one or two of the data-pieces were not considered, which 
resulted in incorrect answers. Problems in which several parts need to be combined to give the final answer 
are more easily handled correctly if consistent communication is maintained, e.g. using full and correct units 
when working with values. The best responses were careful to specify the units, gallons per minute, cubic 
feet per second, etc. throughout and annotate each line of calculation. This practice also allows for easier 
checking to ensure the correct progression of steps has been fully completed. 

A B C D E N O

Item 13 4.7 6.7 11.2 14.2 46.7 16.4

Item 14 9.7 11.6 8.2 25.2 2.2 18.9 24.2

A shaded box indicates that the grade was not available for that item.

A B C N O

100%

D
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Model response

Determine how long the water supply will need to be left on so that the water from the six 
sprinklers in the system shown will spread evenly across the darker shaded area to an average 
depth of 0.080 feet. 

..........................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

Show all steps. 
Area of lawn = 3900 square feet.

Volume of water to be used = 3900 × 0.08 = 312 cubic feet.

One gallon = 0.134 cubic feet.

Gallons required = 312 ÷ 0.134 = 2328.358 gal.

Taps supply = 6 × 3.6 = 21.6 gpm.

Time for tap to be turned on = 2328.358 ÷ 21.6 ≈ 107.8 min.
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Item 14

Commentary

Item 14 is a four-star item that tested achievement in CCEs 35 Extrapolating, 
17 Estimating numerical magnitude, 22 Structuring a mathematical argument and 
2 Finding material in an indexed collection.

This item comprised two parts. In the first part students were required to complete 
the table with the pipe size that was suitable for each of the given water-flow rates 
and in the second part they had to decide whether the 2- or the 2½-inch pipe is 
the more suitable pipe size for the water-flow rate of 38 gpm.

The cue instructed students to give details pertinent to their decision.

An A-grade response needed to provide the list of the five correct pipe sizes based on the water-flow rate data 
given in the table. In the second part, evidence of correctly extrapolating the values in the 2- and 2½-inch 
pipe size columns had to be provided. The response needed to provide a decision as to which pipe size to use 
based upon the 5 fps rule (for safety and efficiency) described in the stimulus material. This decision needed 
to be explicitly stated and correctly explained.

Students should interrogate a table fully before attempting to use data from it. In this particular table in the 
water-flow rate column the increments changed from 1 to 2 gpm after the 12 gpm row. Some responses 
showed that this change was not recognised and thus caused the extrapolations to be incorrect. 

A B C D N O

100%

E

53Queensland Curriculum & Assessment Authority |



54
Model response

I. The required water-flow rates in sections of a sprinkler system are given below.

Use Table 1 to find the minimum pipe size needed for each of the required 
water-flow rates. Consider safety and efficiency. Complete the pipe-size row.

pipe size (inches)

6.34.4121.6 18.0 10.8 7.2

1111
2 11

4 11
4

3
4

II. Table 1 can be extended for use when the required water-flow rates are greater than
the 22 gpm the table shows. 

Decide whether the minimum pipe size to suit a water-flow rate of 38 gpm is 2  inch 
or 2 inch. Clearly explain and justify your decision.

...........................................................................................

...........................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

1
2---

Give details 
pertinent to 
your decision.

for 2-inch pipe: from table an increase of 2 gpm increases the velocity value 

by approximately 0.22

   22           24          26          28          30          32   34   36   38

2.38       2.60     2.82     3.04     3.26     3.48      3.70 3.92 4.14

for 2½-inch pipe: increase of 2 gpm increases the velocity value by approximately 0.15

    22         24          26           28          30          32           34          36         38

1.66      1.81     1.96      2.11     2.26      2.41     2.56      2.71     2.86

safety rule: can’t exceed 5 fps which neither size pipe does

efficiency rule: velocity should be as close as possible to 5 fps

The 2-inch pipe with 4.14 fps is the best as 4.14 fps is closer to 5 fps than 2.86 fps.
| Retrospective 2016 QCS Test
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Unit Nine
The items in this unit are based on a short play about a cheating incident at a school.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

Item 15

Commentary

Item 15 is a four-star item that tested achievement in CCEs 33 Inferring, 
52 Searching and locating … information and 12 Compiling lists.

This item required students to list the events that happened in order: starting at 
the night before the test when student A watches TV for five hours and ending with 
the morning after the test when A and H arrive outside Mr Hill’s office and are 
about to have their conversation.

The cue directed students to use point form and to indicate when each event 
happened.

An A-grade response needed to provide the seven essential events in the correct sequence and could include 
additional acceptable events. Any acceptable events included also had to be correctly positioned within the 
sequence. The response needed to provide evidence of an understanding about when each of the essential 
events happened. No errors or incorrect statements could appear in an A-grade response.

Students should remember to consider all relevant information provided before they begin to craft their 
response. The stem indicated that the introductory information as well as the dialogue should be considered 
when listing the events that occurred. The event mentioned in the introduction, i.e. ‘they had both been 
called to the office the previous day to explain their conduct’ was often omitted from the list of events in 
responses. 

Students should be precise in their use of language to convey their ideas accurately. Some responses 
incorrectly listed A’s mum being called to the office rather than already being in the office as indicated in the 
script. 

A B C D E N O

Item 15 2.2 10.9 23.6 22.2 18.4 16.7 6.0

item 16 3.2 4.8 33.4 29.9 9.6 6.3 12.8

A shaded box indicates that the grade was not available for that item.

DA B C N O

100%

E
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Model response

Enough evidence is given in the introductory information and in the dialogue to be able to infer 
the sequence of events leading up to A and H arriving outside Mr Hill’s office.

List, in order, the events that happened. Start at the night before the test when student A 
watches TV for five hours. End with the morning after the test when A and H arrive outside Mr 
Hill’s office and are about to have their conversation. 

Use point form. Indicate when each event happened.

The first event and an indication of when it happened has been given. 

•  A and H study together before test on day of test

•  In the test A copies from H

•  A and H are called to the principal’s office later that day

•  That night H tells mother 

•  H’s mother contacts principal the next morning

•  A’s mother in the office that morning

•  In the morning A and H arrive outside office
| Retrospective 2016 QCS Test
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Item 16

Commentary

Item 16 is a four-star item that tested achievement in CCEs 28 Empathising, 
26 Explaining to others, 43 Analysing and 55 Gesturing.

This item required students to consider two different ways the actor playing H 
could deliver the final words of the play that would result in two different 
meanings being conveyed. For each of the different ways of delivering the words, 
students had to describe how H might use two of an actor’s tools: voice, body 
movements/gestures or facial expressions. For each delivery, students had to 

ensure the intended meaning was clearly conveyed. The response area for this item was organised in two 
sections so students were prompted to consider a first meaning and delivery and a second meaning and 
delivery.

The cue in each section directed students to be specific in their descriptions.

An A-grade response for each section needed to provide a meaning and give a description of how to use two 
of the tools of the trade to achieve that meaning. The use of each of the tools had to be explicitly linked to the 
intended meaning in both of the sections. The meanings had to be different and could not be inconsistent 
with a reasonable reading of the play. No transcription errors could appear in the response.

Students should remember to read the introduction to an item carefully so they understand definitions and 
explanations that are provided. In this item an explanation of the tools of an actor’s trade was given. In 
understanding the possible meaning of a play script’s final line, the entire script must be understood. A cue 
must always be attended to. The cue to ‘Be specific in your descriptions’ was important for success in this 
item as some responses did not receive the highest grade as the descriptions given were too general. 

A B C N O

100%

D E
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Model response

The last line of the play has H asking A:

Consider two different ways the actor playing H could deliver these words that would result 
in two different meanings being conveyed.

For each of the different ways of delivering the words, describe how the actor could use 
two of the tools — voice, body movement /gestures, facial expressions — when delivering 
the words to achieve an intended meaning. For each delivery ensure the intended meaning 
is stated clearly.

FIRST MEANING AND DELIVERY 

.............................................................................................

.............................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

So what are you going to do about today’s social studies test?

Be specific 
in your 
description.

This line may be read as meaning, ‘OK, if you are not going to cheat, how on 

earth are you going to pass today’s test?’ I suggest the actor deliver these 

lines with a long gloating ‘So’ followed by the rest of the sentence in a mocking/taunting 

tone, with special stress on the words ‘you’ and ‘today’s’. The delivery of the words should 

be accompanied by an exaggerated, arm-long finger pointing at A. H is to give impression 

that she’ll enjoy seeing A’s train wreck.

SECOND MEANING AND DELIVERY 

.............................................................................................

.............................................................................................

...........................................................................................................

...........................................................................................................

...........................................................................................................

Be specific 
in your 
description.

This line may be read as meaning, ‘So, once we’ve sorted this case of cheating, 

what’s your plan for cheating in today’s test?’ H should lean in toward A 

conspiratorially and say the words in an eager whisper. H is to give the impression that 

the past is forgotten and she and A are again partners in crime.
61Queensland Curriculum & Assessment Authority |



62
U
N

IT
 N

IN
E

IT
E

M
 1

6

PE
R

FO
R

M
A

N
C

E
 D

O
M

A
IN

M
a

rk
in

g
 S

c
h

e
m

e

M
a
rk

in
g

 U
n

it
 9

 2
 o

f 
3

N

R
es

po
ns

e 
is

 
un

in
te

lli
gi

bl
e 

or
 d

oe
s n

ot
 

sa
tis

fy
 th

e 
re

qu
ir

em
en

ts
 

fo
r 

an
y 

ot
he

r 
gr

ad
e. O

N
o 

re
sp

on
se

 
ha

s b
ee

n 
m

ad
e 

at
 a

ny
 ti

m
e.

28
E

m
pa

th
is

in
g

26
E

xp
la

in
in

g 
to

 o
th

er
s

43
A

na
ly

si
ng

55
G

es
tu

ri
ng

C

Fo
r 

ea
ch

 se
ct

io
n,

 th
e 

re
sp

on
se

 

�
pr

ov
id

es
 a

 m
ea

ni
ng

. 

Th
e 

m
ea

ni
ng

s a
re

 d
iff

er
en

t a
nd

 
ar

e 
no

t i
nc

on
si

st
en

t w
ith

 a
 

re
as

on
ab

le
 r

ea
di

ng
 o

f t
he

 p
la

y.

Fo
r 

on
e 

se
ct

io
n,

 th
e 

re
sp

on
se

 

�
pr

ov
id

es
 a

 m
ea

ni
ng

 
�

gi
ve

s a
 d

es
cr

ip
tio

n 
of

 h
ow

 to
 u

se
 

O
N

E
 o

f t
he

 to
ol

s t
o 

ac
hi

ev
e 

th
at

 
m

ea
ni

ng
.

Th
e 

m
ea

ni
ng

 is
 n

ot
 in

co
ns

is
te

nt
 

w
ith

 a
 r

ea
so

na
bl

e 
re

ad
in

g 
of

 th
e 

pl
ay

.

O
R

A

Fo
r 

ea
ch

 se
ct

io
n,

 th
e 

re
sp

on
se

 

�
pr

ov
id

es
 a

 m
ea

ni
ng

 
�

gi
ve

s a
 d

es
cr

ip
tio

n 
of

 h
ow

 to
 u

se
 

T
W

O
 o

f t
he

 to
ol

s t
o 

ac
hi

ev
e t

ha
t 

m
ea

ni
ng

.

T
he

 u
se

 o
f e

ac
h 

of
 th

e 
to

ol
s i

s 
ex

pl
ic

itl
y 

lin
ke

d 
to

 th
e 

in
te

nd
ed

 
m

ea
ni

ng
 in

 b
ot

h 
of

 th
e 

se
ct

io
ns

.

T
he

 m
ea

ni
ng

s a
re

 d
iff

er
en

t a
nd

 
ar

e 
no

t i
nc

on
si

st
en

t w
ith

 a
 

re
as

on
ab

le
 r

ea
di

ng
 o

f t
he

 p
la

y.

N
o 

tr
an

sc
ri

pt
io

n 
er

ro
rs

 a
pp

ea
r 

in
 

th
e 

re
sp

on
se

.

B

Fo
r 

ea
ch

 se
ct

io
n,

 th
e 

re
sp

on
se

 

�
pr

ov
id

es
 a

 m
ea

ni
ng

 
�

gi
ve

s a
 d

es
cr

ip
tio

n 
of

 h
ow

 to
 u

se
 

O
N

E
 o

f t
he

 to
ol

s t
o 

ac
hi

ev
e 

th
at

 
m

ea
ni

ng
.

T
he

 u
se

 o
f t

he
 to

ol
 is

 e
xp

lic
itl

y 
lin

ke
d 

to
 th

e 
in

te
nd

ed
 m

ea
ni

ng
 in

 
bo

th
 o

f t
he

 se
ct

io
ns

.

T
he

 m
ea

ni
ng

s a
re

 d
iff

er
en

t a
nd

 
ar

e 
no

t i
nc

on
si

st
en

t w
ith

 a
 

re
as

on
ab

le
 r

ea
di

ng
 o

f t
he

 p
la

y.

Fo
r 

ea
ch

 se
ct

io
n,

 th
e 

re
sp

on
se

 

�
pr

ov
id

es
 a

 m
ea

ni
ng

 
�

gi
ve

s a
 d

es
cr

ip
tio

n 
of

 h
ow

 to
 u

se
 

T
W

O
 o

f t
he

 to
ol

s t
o 

ac
hi

ev
e t

ha
t 

m
ea

ni
ng

.

T
he

 m
ea

ni
ng

s a
re

 d
iff

er
en

t a
nd

 
ar

e 
no

t i
nc

on
si

st
en

t w
ith

 a
 

re
as

on
ab

le
 r

ea
di

ng
 o

f t
he

 p
la

y.

O
R

D

Fo
r 

on
e 

se
ct

io
n,

 th
e 

re
sp

on
se

 

�
pr

ov
id

es
 a

 m
ea

ni
ng

. 

T
he

 m
ea

ni
ng

 is
 n

ot
 in

co
ns

is
te

nt
 

w
ith

 a
 r

ea
so

na
bl

e 
re

ad
in

g 
of

 th
e 

pl
ay

.

Fo
r 

ea
ch

 se
ct

io
n,

 th
e 

re
sp

on
se

 

�
in

di
ca

te
s H

�s
 a

tt
itu

de
 to

w
ar

ds
 A

�
gi

ve
s a

 d
es

cr
ip

tio
n 

of
 h

ow
 to

 u
se

 
O

N
E

 o
f t

he
 to

ol
s t

o 
ac

hi
ev

e 
th

at
 

at
tit

ud
e.

T
he

 tw
o 

at
tit

ud
es

 a
re

 d
iff

er
en

t a
nd

 
ar

e 
no

t i
nc

on
si

st
en

t w
ith

 a
 

re
as

on
ab

le
 r

ea
di

ng
 o

f t
he

 p
la

y.

O
R

E

Fo
r 

on
e 

se
ct

io
n,

 th
e 

re
sp

on
se

 

�
in

di
ca

te
s H

�s
 a

tt
itu

de
 to

w
ar

ds
 A

�
gi

ve
s a

 d
es

cr
ip

tio
n 

of
 h

ow
 to

 u
se

 
O

N
E

 o
f t

he
 to

ol
s t

o 
ac

hi
ev

e 
th

at
 

at
tit

ud
e.

T
he

 a
tt

itu
de

 is
 n

ot
 in

co
ns

is
te

nt
 

w
ith

 a
 r

ea
so

na
bl

e 
re

ad
in

g 
of

 th
e 

pl
ay

.

M
od

el
 R

es
po

ns
e:

FI
R

ST
 M

E
A

N
IN

G
 A

N
D

 D
E

L
IV

ER
Y

T
hi

s l
in

e 
m

ay
 b

e 
re

ad
 a

s m
ea

ni
ng

, �
O

K
, i

f y
ou

 a
re

 n
ot

 g
oi

ng
 to

 c
he

at
, h

ow
 o

n 
ea

rt
h 

ar
e 

yo
u 

go
in

g 
to

 p
as

s t
od

ay
�s

 te
st

?�
 I 

su
gg

es
t t

he
 a

ct
or

 d
el

iv
er

 th
es

e 
lin

es
 w

ith
 a

 lo
ng

 g
lo

at
in

g 
�S

o�
 

fo
llo

w
ed

 b
y 

th
e 

re
st

 o
f t

he
 se

nt
en

ce
 in

 a
 m

oc
ki

ng
/ta

un
tin

g 
to

ne
, w

ith
 sp

ec
ia

l s
tr

es
s o

n 
th

e 
w

or
ds

 �y
ou

� a
nd

 �t
od

ay
�s

�. 
Th

e 
de

liv
er

y 
of

 th
e 

w
or

ds
 sh

ou
ld

 b
e 

ac
co

m
pa

ni
ed

 b
y 

an
 

ex
ag

ge
ra

te
d,

 a
rm

-lo
ng

 fi
ng

er
 p

oi
nt

in
g 

at
 A

. H
 is

 to
 g

iv
e 

im
pr

es
sio

n 
th

at
 sh

e�
ll 

en
jo

y 
se

ei
ng

 A
�s

 tr
ai

n 
w

re
ck

.

SE
C

O
N

D
 M

E
A

N
IN

G
 A

N
D

 D
E

L
IV

E
R

Y

T
hi

s l
in

e 
m

ay
 b

e 
re

ad
 a

s m
ea

ni
ng

, �
So

, o
nc

e 
w

e�
ve

 so
rt

ed
 th

is
 c

as
e 

of
 c

he
at

in
g,

 w
ha

t�s
 y

ou
r 

pl
an

 fo
r 

ch
ea

tin
g 

in
 to

da
y�

s t
es

t?
� H

 sh
ou

ld
 le

an
 in

 to
w

ar
d 

A
 c

on
sp

ir
at

or
ia

lly
 a

nd
 sa

y 
th

e 
w

or
ds

 in
 a

n 
ea

ge
r 

w
hi

sp
er

. H
 is

 to
 g

iv
e 

th
e 

im
pr

es
si

on
 th

at
 th

e 
pa

st
 is

 fo
rg

ot
te

n 
an

d 
sh

e 
an

d 
A

 a
re

 a
ga

in
 p

ar
tn

er
s i

n 
cr

im
e.
| Retrospective 2016 QCS Test



M
a

rk
in

g
 S

c
h

e
m

e

M
a
rk

in
g

 U
n

it
 9

 3
 o

f 
3

U
N

IT
 N

IN
E

IT
E

M
 1

6

N
ot

es
:

1.
T

he
 m

ea
ni

ng
 p

ro
vi

de
s a

n 
un

de
rs

ta
nd

in
g 

of
 w

ha
t H

 m
ea

ns
 w

he
n 

th
e 

ac
to

r 
de

liv
er

s t
he

 la
st

 li
ne

 o
f t

he
 p

la
y.

 A
 h

as
 ju

st
 sa

id
, �

I�
m

 n
ev

er
 g

oi
ng

 to
 c

he
at

 a
ga

in
.� 

Is
 th

is
 tr

ue
 o

r 
no

t?
A

sk
 �

 w
ha

t d
oe

s H
 m

ea
n 

w
he

n 
sh

e 
sa

ys
 th

e 
lin

e.
 It

 is
 n

ot
 ju

st
 a

bo
ut

 h
ow

 H
 fe

el
s. 

H
ow

 H
 fe

el
s i

s H
�s

 a
tt

itu
de

 to
w

ar
ds

 A
.

2.
T

he
 th

re
e 

to
ol

s t
o 

ch
oo

se
 tw

o 
fr

om
 a

re
 v

oi
ce

, b
od

y 
m

ov
em

en
t/g

es
tu

re
s, 

fa
ci

al
 e

xp
re

ss
io

ns
.

A
 d

es
cr

ip
tio

n 
of

 h
ow

 to
 u

se
 a

 to
ol

 sh
ow

s w
ha

t i
t i

s t
he

 a
ct

or
 w

ill
 d

o 
w

ith
 th

e 
to

ol
. T

he
 d

es
cr

ip
tio

n 
m

us
t b

e 
sp

ec
ifi

c 
so

 a
 p

er
so

n 
w

ou
ld

 k
no

w
 w

ha
t t

o 
do

 w
ith

 th
ei

r 
vo

ic
e 

or
 th

ei
r 

bo
dy

 o
r 

th
ei

r 
fa

ce
, e

.g
. a

 lo
ud

 v
oi

ce
, a

 sh
ru

g,
 a

 sm
ile

, c
ro

ss
 th

e 
ar

m
s. 

Th
e 

de
sc

ri
pt

io
n 

do
es

 n
ot

 ju
st

 u
se

 su
ch

 p
hr

as
es

 a
s a

n 
op

en
 st

an
ce

, a
 q

ui
zz

ic
al

 lo
ok

, a
 sa

rc
as

tic
 v

oi
ce

. 
U

nt
il 

w
e 

kn
ow

 w
ha

t t
o 

do
 w

ith
 v

oi
ce

 o
r 

bo
dy

 o
r 

fa
ce

, a
 d

es
cr

ip
tio

n 
of

 a
 to

ol
 h

as
 n

ot
 b

ee
n 

gi
ve

n.
� 

Fo
r 

vo
ic

e,
 th

e 
us

e 
of

 a
ny

 o
f t

he
 fo

llo
w

in
g 

m
ig

ht
 g

iv
e 

th
e 

to
ne

 o
f v

oi
ce

. T
he

 to
ne

 is
 th

e 
ef

fe
ct

 b
ut

 so
m

et
hi

ng
 m

us
t b

e 
do

ne
 w

ith
: p

itc
h,

 v
ol

um
e,

 e
m

ph
as

is
, i

nf
le

ct
io

n,
 sp

ee
d/

pa
ce

, p
au

se
.

� 
Fo

r 
bo

dy
 m

ov
em

en
t/g

es
tu

re
s, 

a 
m

ov
em

en
t m

us
t b

e 
de

sc
ri

be
d,

 n
ot

 ju
st

 a
n 

ef
fe

ct
. A

 fr
ie

nd
ly

 g
es

tu
re

 is
 a

n 
ef

fe
ct

 w
hi

ch
 m

ig
ht

 b
e 

ac
hi

ev
ed

 b
y 

pu
tt

in
g 

an
 a

rm
 a

ro
un

d 
th

e 
pe

rs
on

.
� 

Fo
r 

fa
ci

al
 e

xp
re

ss
io

n,
 th

e 
de

sc
ri

pt
io

n 
m

us
t s

ay
 h

ow
 to

 u
se

 fe
at

ur
es

 o
f t

he
 fa

ce
, e

.g
. a

n 
an

gr
y 

fa
ce

 is
 n

ot
 a

 d
es

cr
ip

tio
n 

of
 u

si
ng

 fa
ci

al
 e

xp
re

ss
io

ns
. I

t i
s a

n 
ef

fe
ct

 c
au

se
d 

pe
rh

ap
s b

y 
gl

ar
in

g 
at

 th
e 

ot
he

r 
pe

rs
on

 o
r 

us
in

g 
a 

de
at

h 
st

ar
e.

3.
Tr

an
sc

ri
pt

io
n 

er
ro

rs
, o

nl
y 

co
ns

id
er

ed
 a

t t
he

 A
-g

ra
de

, o
cc

ur
 w

he
n 

A
 is

 u
se

d 
in

st
ea

d 
of

 H
 o

r 
ot

he
r 

le
tt

er
s a

re
 u

se
d 

or
 o

th
er

 n
am

in
g 

m
is

ta
ke

s a
re

 m
ad

e.
 

A
t t

he
 o

th
er

 g
ra

de
s (

B
, C

, D
 a

nd
 E

) r
ea

d 
th

e 
re

sp
on

se
 a

s t
ho

ug
h 

th
e 

er
ro

r 
ha

s n
ot

 b
ee

n 
m

ad
e 

an
d 

gr
ad

e 
ac

co
rd

in
gl

y.

L
as

t P
ag

e 
C

ou
nt
63Queensland Curriculum & Assessment Authority |


	Short Response (SR)
	SR 2016 summary
	Unit One
	Unit Two
	Unit Three
	Unit Four
	Unit Five
	Unit Six
	Unit Seven
	Unit Eight
	Unit Nine



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




